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SECTION – A

Analytical Ability

(OÐðlÔóæÏíÙMýS ÝëÐ]l$Æý‡¦Å™èl)
{ç³Ô¶æ²Ë$: 75 Ð]l*Æý‡$PË$: 75
(i) Data Sufficiency

§ýl™é¢…Ô¶æ ç³Æ>Åç³¢™èl Ð]l*Æý‡$PË$ : 20
çÜ*^èl¯]l: 1 ]̄l$…_ 20 Ð]lÆý‡MýS$ C_a ]̄l {ç³† {ç³Ô¶æ²ÌZ ]̄l* JMýS
{ç³Ô¶æ², §é° MìS…§ýl I, II A° VýS$Æý‡$¢Ë$ VýSË Æð‡…yýl$
{ç³Ð]l è̂l¯éË$ §ýl™é¢…Ô¶æ…V> C^éaÆý‡$. C_a ]̄l §ýl™é¢…Ô>°²
Eç³Äñæ* W…_ C_a ]̄l {ç³Ð]l è̂l¯éË$ {ç³Ô¶æ²MýS$ çÜÐ]l*«§é¯é°²
C ó̂la…§ýl$MýS$ ç³Æ>Å´ë¢Ë$ AÐ]l#™éÄ¶æ* Ìôæ§é A ó̄l¨ Ò$Æý‡$
°Æ>®Ç…^éÍ. D °Æ>®Æý‡×æMýS$ MìS…¨ Ð]l*Æý‡Y§ýlÆý‡ØMýS çÜ*{™éË$
Eç³Äñæ*W…_ (1) ]̄l$…_ (4) Ð]lÆý‡MýS$ çÜOÆð‡ ]̄l fÐéº$ ]̄l$
G…í³MýS ó̂lÄ¶æ$…yìl.
G) {ç³Ô¶æ²MýS$ çÜÐ]l*«§é ]̄l… C ó̂la…§ýl$MýS$ {ç³Ð]l è̂l ]̄l… I

Ð]l*{™èlÐól$ ç³Æ>Åç³¢OÐðl$™ól Ò$ fÐéº$ (1)V>
VýS$Ç¢…^èl…yìl.

¼) {ç³Ô¶æ² çÜÐ]l*«§é ]̄l… C ó̂la…§ýl$MýS$ {ç³Ð]l è̂l ]̄l… II

Ð]l*{™èlÐól$ ç³Æ>Åç³¢OÐðl$™ól Ò$ fÐéº$ (2)V>
VýS$Ç¢…^èl…yìl.

íÜ) {ç³Ô¶æ²MýS$ çÜÐ]l*«§é ]̄l… C ó̂la…§ýl$MýS$ {ç³Ð]l è̂l¯éË$ I, II
MýSÍíÜ ç³Æ>Åç³¢OÐðl$ A…§ýl$ÌZ H JMýSPsìæ MýS*yé
ç³Æ>Åç³¢… M>MýS´ù™ól Ò$ fÐéº$ (3)V> VýS$Ç¢… è̂l…yìl.

yìl) {ç³Ô¶æ²MýS$ çÜÐ]l*«§é ]̄l… C ó̂la…§ýl$MýS$ {ç³Ð]l è̂l¯éË$ I, II
MýSÍíÜ MýS*yé ç³Æ>Åç³¢… M>MýS A§ýl ]̄lç³# §ýl™é¢…Ô¶æ…
AÐ]lçÜÆý‡OOOÐðl$™ól Ò$ fÐéº$ (4)V> VýS$Ç¢… è̂l…yìl.

1. x »ôæíÜ çÜ…QÅ?
I. x2 çÜÇçÜ…QÅ II. 4x çÜÇçÜ…QÅ

2. B Ð]l*{†MýS AÆ‡¬™ól, x ÑË$Ð]l G…™èl?

I. B JMýS ÝûçÙtÐ]l Ð]l*{†MýS M>§ýl$

II. B JMýS Ýë«§éÆý‡×æ Ð]l*{†MýS

3. Ô¶æ…Q$Ð]l# çœ$¯]l ç³ÇÐ]l*×æ… G…™èl?
I. Ô¶æ…Q$Ð]l# G™èl$¢ 8 òÜ….Ò$.
II. §é° B«§éÆý‡… OÐðlÔ>ËÅ… 93 ^èl.òÜ….Ò$

4. B çÜÆý‡â¶æÆó‡Q ÐéË$ G…™èl?
I. B çÜÆý‡â¶æ Ð]lÊË¼…§ýl$Ð]l#, (8, 4) ¼…§ýl$Ð]l#

VýS$…yé ´ù™èl$…¨.
II. B çÜÆý‡â¶æÆó‡Q (4, 5) VýS$…yé ´ù™èl$…¨.

5. x, y, z ¼…§ýl$Ð]l#Ë¯]l$ MýSËç³V> HÆý‡μyól {†¿¶æ$f…
OÐðlÔ>ËÅ… G…™èl?
I. x (4, 0), y (2, 6)

II. x, y, z Ë$ JMóS çÜÆý‡â¶æÆó‡QOò³ E…sêÆ‡¬.

6. JMýS {ÔóæÉìlÌZ° 20Ð]l ç³§ýl… G…™èl?
I. B {ÔóæÉìl A…MýS{ÔóæÉìl
II. B {ÔóæÉìlÌZ Ððl¬§ýlsìæ ç³§ýl… 4

7. Ð]lÆý‡Y çÜÒ$MýSÆý‡×æ… ax2 + bx + c = 0¯]l$ °Æ>¦Ç…
^èlVýSËÐ]l*?
I. Ð]lÊÌêË Ððl¬™èl¢… C^éaÆý‡$. 
II. Ð]lÊÌêË Ëº®… C^éaÆý‡$.

8. 8a3 + b3 – 27c3 ÑË$Ð]l G…™èl?
I. abc = k II. 2a + b = 3c

9. Æð‡…yýl$ KyýlË Ð]l$«§ýlÅ §ýl*Æý‡… G…™èl?
I. ç³Æý‡Ó™èl ÕQÆý‡… ]̄l$…_ è̂l*íÜ ]̄lç³#μyýl$ Ðésìæ

°Ð]l$²Mø×êË$ 60°, 30°
II. ç³Æý‡Ó™èl… G™èl$¢ 120 Ò$rÆý‡$Ï
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10. JMýS »êÅ…MýS$ yìl´ëhsŒæ Ò$§ýl çÜ…Ð]l™èlÞÆ>°MìS
Ýë«§éÆý‡×æ Ð]lyîlz G…™èl?
I. yìl´ëhsŒæ ó̂líÜ ]̄l Ððl¬™èl¢… 20,000

II. Ð]lyîlzÆó‡r$ 12%

11. f : R →→ R JMýS çÜÇ {ç³Ðól$Ä¶æ$Ð]l*?
I. f (x) = f (–x) {ç³† x ∈ RMìS
II. f (x) A ó̄l¨ çÜÇ çÜ…QÅ ]̄l$ çœ*™èl…V> MýSÍW ]̄l

ºçßæ$ç³¨ 

12. B Ð]lçÜ$¢Ð]l# Mö¯]l² ÐðlË G…™èl?
I. B Ð]lçÜ$¢Ð]l# AÑ$Ã ]̄l ÐðlË Æý‡*. 200

II. Ìê¿¶æ… 20 Ô>™èl…

13. çÜÑ$† AÌZ G°² Ð]lÊËM>Ë$¯é²Æ‡¬?
I. A ∪ BÌZ 25 Ð]lÊËM>Ë$¯é²Æ‡¬
II. B – A ÌZ 15 Ð]lÊËM>Ë$¯é²Æ‡¬

14. AMìS G…™èlÐ]l$…¨ Ýù§ýlÆý‡$Ë$¯é²Æý‡$?
I. A ™èl…{yìlMìS ]̄lË$VýS$Æý‡$ í³ËÏË$
II. A ™èlÍÏ§ýl…{yýl$ËMýS$ BÐðl$ JMýSP™ól MýS*™èl$Æý‡$

15. Ëº®… mn JMýS MýSÆý‡×îæÄ¶æ$ çÜ…RêÅ?
I. m JMýS MýSÆý‡×îæÄ¶æ$ çÜ…QÅ
II. n JMýS MýSÆý‡×îæÄ¶æ$ çÜ…QÅ

16. ΔΔ  ABC JMýS çÜÐ]l$»êçßæ$ {†¿¶æ$fÐ]l*?
I. AB = BC II. ∠ABC = 60°

17. a, bË ÑË$Ð]lË$ G…™èl?
I. a : b = 7 : 3      b > 0

II. 2a : b = 6 : 11   a > 0

18. a + b = d AÐ]l#™èl$…§é?
I. a, b, cË çÜÆ>çÜÇ 6
II. c, dË çÜÆ>çÜÇ 9

19. ÑË$Ð]l G…™èl?

I. x + 96 = 0 II. x + 48 ≠ 0

20. sin4θθ  ++  cosec4θθ ÑË$Ð]l G…™èl?
I. sinθ + cosecθ = 2

II. sin2θ = 1 + Τan2θ

(ii) Problem Solving

çÜÐ]l$ÝëÅ Ýë«§ýl¯]l Ð]l*Æý‡$PË$: 55
(a) Data Analysis

§ýl™é¢…Ô¶æ ÑÔóæÏçÙ×æ Ð]l*Æý‡$PË$: 10
çÜ*^èl¯]l: {ç³† ç³…^éÄ¶æ$¡ÌZ BÆý‡$ MóSrWÈË E§øÅVýS$Ë$
A, B, C, D, E, F Ë¯]l$

A : B : C : D : E : F = 12 : 3 : 7 : 9 : 2 : 3

°çÙμ†¢ÌZ °Ä¶æ$Ñ$…^éÆý‡$. D ÑçÙÄ¶æ$… B«§éÆý‡…V> 21
]̄l$…_ 25 Ð]lÆý‡MýS$ VýSË {ç³Ô¶æ²ËMýS$ fÐéº$ÍÐ]lÓ…yìl.

21. JMýS ç³…^éÆ‡¬¡ÌZ Ððl¬™èl¢… 72 Ð]l$…¨ E§øÅVýS$
Ë$…sôæ A…§ýl$ÌZ C MóSrWÇ E§øÅVýS$Ë çÜ…QÅ?
1) 6 2) 14 3) 18 4) 24

22. JMýS ç³…^éÆ‡¬¡ÌZ D MóSrWÇ E§øÅVýS$Ë$ 36 Ð]l$…¨
E…sôæ A…§ýl$ÌZ E MóSrWÇ E§øÅVýS$Ë çÜ…QÅ?
1) 8 2) 12 3) 16 4) 20

23. H ç³…^éÆ‡¬¡ÌZO¯ðl¯é A MóSrWÇ, F MóSrWÇ
E§øÅVýS$Ë °çÙμ†¢?
1) 1 : 4 2) 4 : 1 3) 3 : 4 4) 4 : 3

24. JMýS ç³…^éÆ‡¬¡ÌZ B MóSrWÇ E§øÅVýS$Ë çÜ…QÅ 30
AÆ‡¬™ól, A…§ýl$ÌZ° Ððl¬™èl¢… E§øÅVýS$Ë çÜ…QÅ?
1) 360 2) 316 3) 260 4) 216

25. H ç³…^éÆ‡¬¡ÌZ O¯ðl¯é MóSrWÇ C,,  EË¯]l$ MýSÍõ³
E§øÅVýS$Ë çÜ…QÅ, MìS…¨ ÐésìæÌZ H MóSrWÇ
E§øÅVýS$Ë çÜ…QÅMýS$ çÜÐ]l*¯]lÐ]l$Ð]l#™èl$…¨?
1) A 2) B 3) C 4) D

+
1

48x

www.sakshieducation.com

www.sakshieducation.com



w
w
w
.s
a
k
s
h
ie
d
u
c
a
ti
o
n
.c
o
m

çÜ*^èl¯]l: JMýS ç³Ç{ÔèæÐ]l$ÌZ Ððl¬™èl¢… ’ 2,880 Ë„ýSË ºyðljsŒæÌZ
ÑÑ«§ýl A…Ô>ËMýS$ MóSsêÆ‡¬…ç³#Ë$ MìS…¨ ç³r…ÌZ
^èl*í³¯]lr$Ï¯é²Æ‡¬.

26. i™éËMýS$ MóSsêÆ‡¬…_¯]l yýlº$¾ (Ë„ýSË Æý‡*´ëÄ¶æ$ÌZÏ)
1) 1152 2) 1252 3) 1312 4) 1432

27. C™èlÆý‡Ð]l¬ËMýS$ MóSsêÆ‡¬…ç³#
1) Æý‡*. 240.3 Ë„ýSË$ 2) Æý‡*. 230.4 Ë„ýSË$
3) Æý‡*. 234 Ë„ýSË$ 4) Æý‡*. 232.4 Ë„ýSË$

28. OÐðl§ýlÅ QÆý‡$aË MýS…sôæ ½Ð]l*, Ýë…íœ$MýS ¿¶æ{§ýl™èlMýS$ G…™èl
GMýS$PÐ]l MóSsêÆ‡¬…^éÆý‡$?
1) Æý‡*. 288 Ë„ýSË$ 2) Æý‡*. 258 Ë„ýSË$
3) Æý‡*. 238 Ë„ýSË$ 4) Æý‡*. 283 Ë„ýSË$

29. M>Å…sìæ¯Œæ, C™èlÆ>ËMýS$ MýSÍí³¯]l MóSsêÆ‡¬…ç³#Ë$, H
MóSsêÆ‡¬…ç³#ÌZ çÜVýS…?
1) OÐðl§ýlÅ QÆý‡$aË$ 
2) ½Ð]l*, Ýë…íœ$MýS ¿¶æ{§ýl™èl
3) i™éË$ 
4) OÐðl§ýlÅ QÆý‡$aË$, ½Ð]l*MýS$ MýSÍí³ ]̄l MóSsêÆ‡¬…ç³#

30. i™éË MóSsêÆ‡¬…ç³#ÌZ ½Ð]l*, Ýë…íœ$MýS ¿¶æ{§ýl™èl
MóSsêÆ‡¬…ç³#¯]l$ ¡íÜÐólõÜ¢ Ð]l^óla¨  MìS…¨ ÐésìæÌZ H
MóSsêÆ‡¬…ç³#¯]lMýS$ çÜÐ]l*¯]l…?
1) OÐðl§ýlÅ QÆý‡$aË$ 2) i™éË$
3) M>Å…sîæ Œ̄æ 4) C™èlÆ>Ë$

(b) Coding and Decoding Problems

Møyìl…VŠæ, yîlMøyìl…VŠæ çÜÐ]l$çÜÅË$ Ð]l*Æý‡$PË$ : 10
çÜ*^èl¯]l: 7m + 5° 26™ø ¿êW…_ ]̄lç³#μyýl$ Ð]l ó̂la ÔóæçÙ…
n, 1 ≤ n ≤ 26 AÆ‡¬ ]̄lç³#μyýl$, C…XÏçÙ$ A„ýSÆý‡Ð]l*ËÌZ°
mÐ]l A„ýSÆ>°² nÐ]l A„ýSÆý‡…V> MøyŠæ ó̂lÝë¢Æý‡$. E§éçßæÆý‡×æMýS$
3Ð]l A„ýSÆý‡… C ]̄l$, B ¿êçÙÌZ (7 × 3 + 5) = 26Ð]l
A„ýSÆý‡… ZV> MøyŠæ ó̂lÝë¢Æý‡$. yîlMøyŠæ ó̂lÄ¶æ$yé°MìS, ©°
ÑÌZÐ]l$ {ç³{MìSÄ¶æ$ ]̄l$ Ðéyýl™éÆý‡$. D çÜÐ]l*^éÆ>°²
B«§éÆý‡…V> ó̂lçÜ$Mö°, 31 ]̄l$…_ 35 Ð]lÆý‡MýS$ VýSË {ç³Ô¶æ²ËMýS$
fÐéº$ ÍÐ]lÓ…yìl.
31. 'FRAME'MìS MøyŠæ ç³§ýl…

1) UAMSO 2) TZKQM

3) UALRN 4) TZMSO

32. H ç³§é°² 'RNLKH'V> MøyŠæ ^ólÄñæ¬^èl$a?
1) MEALS 2) TRIMS

3) MEATS 4) TRAIN

33. 'BUST'MìS MøyŠæ ç³§ýl…
1) SUGP 2) SVHO

3) SWIQ 4) TJHO

34. 'BLPY'V> MøyŠæ ^ólõÜ ç³§ýl…
1) GAIL 2) GAIN

3) RAIN 4) GARE

35. D MøyŠæÌZ °Ô¶æaÆý‡…V> E…yól A„ýSÆ>Ë çÜ…QÅ?
1) 3 2) 2 3) 1 4) 0

çÜ*^èl¯]l: MìS…§ýl C_a ]̄l Møyìl…VŠæ Ð]lÅÐ]lçÜ¦̄ ]l$, Ðésìæ MìS…§ýl
C_a ]̄l çÙÆý‡™èl$Ë ]̄l$ B«§éÆý‡…V> ó̂lçÜ$Mö°, 36 ]̄l$…_ 40

Ð]lÆý‡MýS$ VýSË {ç³Ô¶æ²ËMýS$ fÐéº$ÍÐ]lÓ…yìl.
çÜ…QÅ

7 3 & 3 % 2 # 8 4 @ 1 + 5 $/VýS$Æý‡$¢
MøyŠæ S H P W L D K J X Z Q T N F
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çÙÆý‡™èl$Ë$:
i) Ððl¬§ýlsìæ Ð]lÊËMýS… JMýS VýS$Æý‡$¢, _Ð]lÇ Ð]lÊËMýS… JMýS

çÜ…QÅ AÆ‡¬™ól, Æð‡…yýl$ Ð]lÊËM>Ë MøyŠæË ]̄l$
™éÆý‡$Ð]l*Æý‡$ ó̂lÄ¶æ*Í.

ii) Ððl¬§ýlsìæ, _Ð]lÇ Ð]lÊËM>Ë$ VýS$Æý‡$¢Ë$ AÆ‡¬™ól,
_Ð]lÇ Ð]lÊËMýS… MøyŠæ Ððl¬§ýlsìæ Ð]lÊËMýS… MøyŠæV>
¡çÜ$MøÐéÍ.

iii) C_a ]̄l Ð]lÊËM>Ë çÜÐ]lÊçßæ… JMóS JMýS VýS$Æý‡$¢̄ ]l$
MýSÍW E…sôæ, B VýS$Æý‡$¢̄ ]l$ AV> MøyŠæ ó̂lÄ¶æ*Í.

36. '%82&47'MìS MøyŠæ ç³§ýl…
1) LDJPXS 2) SJDXPL

3) SJDPXL 4) LJDPXS

37. '@4153+'MìS MøyŠæ ç³§ýl… H¨?
1) TXQNHT 2) ZQXNHZ

3) TQXNHT 4) ZXQNHZ

38. '45631#'MìS MøyŠæ ç³§ýl…
1) ANWHQX 2) XNWHQX

3) XNWHQA 4) XNHWQA

39. '3+5641'MìS MøyŠæ ç³§ýl… H¨?
1) HANWXQ 2) QANWXH

3) HANXWQ 4) HANWXW

40. '2@7$4&'MìS MøyŠæ ç³§ýl…
1) DASFXP 2) DZSFXP

3) PZSAXD 4) DZSXFP

(c) Date, Time and Arrangement Problems

™ól©, M>Ë…, AÐ]l$ÇMýSË çÜÐ]l$çÜÅË$ Ð]l*Æý‡$PË$: 10
41. ™èl*Æý‡$μMýS$ AÀÐ]l¬Q…V> E¯]l² Ð]lÅMìS¢ ™èl*Æý‡$μ

¨MýS$PV> 30 Ò$rÆý‡$Ï MýS¨ÌêMýS E™èl¢Æý‡… OÐðlç³# 30
Ò$rÆý‡$Ï ¯]lyìl_ BOò³ ™èl*Æý‡$μ OÐðlç³# Ð]l$ÆøÝëÇ 30
Ò$rÆý‡$Ï MýS¨Ìêyýl$. Ððl¬§ýlsìæ ¼…§ýl$Ð]l# ¯]l$…_

A™èlyðl…™èl §ýl*Æý‡…ÌZ E¯é²yýl$?
1) 80 Ò$. 2) 90 Ò$. 3) 100 Ò$. 4) 110 Ò$.

42. 1990 ™èlÆ>Ó™èl, 1990 M>ÅÌñæ…yýlÆŠæ¯ól MýSÍW¯]l
çÜ…Ð]l™èlÞÆý‡Ðól$¨?
1) 1994 2) 1995 3) 1996 4) 2001

43. I§ýl$ çÜ…Ð]l™èlÞÆ>Ë {MìS™èl… MýS$Ð]l*Æý‡$yýl$, A™èl° ™èl…{yìl
Ð]lÄ¶æ$çÜ$Ë °çÙμ†¢ 2 : 5. ™èl…{yìl {ç³çÜ$¢™èl Ð]lÄ¶æ$çÜ$ 50

çÜ…Ð]l™èlÞÆ>OÌñæ™ól MýS$Ð]l*Æý‡$° {ç³çÜ$¢™èl Ð]lÄ¶æ$çÜ$Þ
(çÜ…Ð]l™èlÞÆ>ÌZÏ)
1) 18 2) 21 3) 23 4) 25

44. 5 VýS…rË 15 °Ñ$ÚëË çÜÐ]l$Ä¶æ$… Ð]l§ýlª JMýS
VýSyìlÄ¶æ*Æý‡…ÌZ° Æð‡…yýl$ Ð]l¬Ë$ÏË Ð]l$«§ýlÅ Mø×æ…
1) 72 ½° 2) 67 ½° 3) 64° 4) 58 ½°

45. 31 Ð]l$…¨ E¯]l² ™èlÆý‡VýS†ÌZ çÜ…k¨ 17Ð]l Æ>Å…MýS$
AÆ‡¬™ól _Ð]lÇ ¯]l$…_ A™èl° Æ>Å…MŠæ G…™èl?
1) 15 2) 16 3) 14 4) 13

çÜ*^èl¯]l: ¨VýS$Ð]l C_a ]̄l çÜÐ]l*^éÆ>°² è̂l¨Ñ 46 ]̄l$…_
48 {ç³Ô¶æ²ËMýS$ çÜÐ]l*«§é¯éË$ CÐ]lÓ…yìl.
çÜ…k, MìSÆý‡×Šæ, Ððl*çßæ Œ̄æ, A°ÌŒæ, Æý‡ÑË$ õÜ²íßæ™èl$Ë$.
çÜ…k MìSÆý‡×Šæ MýS…sôæ ´÷sìæt, Æý‡Ñ MýS…sôæ ´÷yýlÐ]l#. Ððl*çßæ Œ̄æ
A…§ýlÇMýS…sôæ G™èl$¢. A°ÌŒæ MìSÆý‡×Šæ MýS…sôæ Mö… ð̂l… ´÷sìæt,
çÜ…k MýS¯é² M>çÜ¢ ´÷yýlÐ]l#.
46. A…§ýlÇMýS…sôæ ´÷sìætV> E¯]l²¨ GÐ]lÆý‡$?

1) Æý‡Ñ 2) çÜ…k 3) A°ÌŒæ 4) MìSÆý‡×Šæ

47. Oò³ ÐéÆý‡…§ýlÇ° JMýS Ð]lÆý‡$çÜÌZ ÐéÇ G™èl$¢Ë
B«§éÆý‡…V> °Ë»ñæyìl™ól Ð]l$«§ýlÅÌZ GÐ]lÆý‡$ E…sêÆý‡$?
1) MìSÆý‡×Šæ 2) Æý‡Ñ 3) çÜ…k 4) A°ÌŒæ

48. A…§ýlÇÌZ Æð‡…yø G™ðl•¢¯]l Ð]lÅMìS¢ GÐ]lÆý‡$?
1) çÜ…k 2) MìSÆý‡×Šæ 3) A°ÌŒæ 4) Æý‡Ñ
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49. çÜ$±™èl¯]l$ ^èl*í³çÜ*¢ Æý‡Ñ CÌê A…r$¯é²yýl$ "BÐðl$
¯é ™èl…{yìl HOMðSMýS MýS$Ð]l*Æý‡$° ¿êÆý‡Å MýS$Ð]l*Æý‡$°
Ýù§ýlÇ'. AÆ‡¬™ól BÐðl$ Æý‡ÑMìS HÐ]l$Ð]l#™èl$…¨?
1) Ðól$ ]̄lMøyýlË$  2) MýS*™èl$Æý‡$
3) Ýù§ýlÇ 4) ™èlÍÏ

50. A+B A…sôæ A, BMýS$ Ýù§ýlÇ. A–B A…sôæ A, BMýS$
Ýù§ýlÆý‡$yýl$. A×B A…sôæ A, BMýS$ MýS$Ð]l*Æð‡¢. AÆ‡¬™ól
N, L Ðól$¯]lÐ]l*Ð]l$ A¯ól çÜ…º…«§é°² çÜ*_…^ól¨?
1) L × M – N 2) L × M + N

3) L – M × N 4) L + M × N

(d) Sequence and Series

A¯]l${MýSÐ]l*Ë$, {Ôóæ×æ$Ë$ Ð]l*Æý‡$PË: 25
çÜ*^èl¯]l: 51 ]̄l$…_ 65 {ç³Ô¶æ²ÌZÏ C_a ]̄l çÜ…QÅË$ V>°,
A„ýSÆ>Ë$ V>° JMýS {MýSÐ]l$º§ýl®OÐðl$ ]̄l °Ä¶æ$Ð]l*°²
´ësìæçÜ$¢̄ é²Æ‡¬. {ç³† {ç³Ô¶æ²ÌZ ]̄l* E ]̄l² Rêä°, C_a ]̄l
¯éË$VýS$ Bç³Û̄ ]lÏ ]̄l$…_ çÜOÆð‡ ]̄l fÐéº$ ]̄l$ G ]̄l$²Mö°,
A ]̄l${MýSÐ]l$ °Ä¶æ$Ð]l*°² A ]̄l$çÜÇ…_ ç³NÇ…^éÍ.
51. ´÷VýS : M>Ë$çÙÅ… :: Ä¶æ¬§ýl®… : ?

1) çÜ…«̈  2) ¯éÔ¶æ ]̄l… 3) Ô>…† 4) ÑfÄ¶æ$…

52. 12 : 30 :: 18 : ?
1) 44 2) 45 3) 36 4) 42

53. 85 : 40 :: 77 : ?
1) 49 2) 50 3) 14 4) 48

54. KNQT : LORU :: ADGJ : ?

1) DGEF 2) MPVW

3) BEHK 4) FHLO

55. DRIVEN : NEVIRD :: BEGUM : ?

1) EBGMU 2) MUGEB

3) MEUBG 4) BGMUE

56. ÐéçÜ¯]l : ç³#çÙμ… :: Æý‡$_ : ?
1) BàÆý‡… 2) Ñ$u>Æ‡¬
3) ±Æý‡$ 4) Eç³#μ

57. Introvert : Extrovert :: ?

1) Against : Favour

2) Action : Law

3) Angle : Tangent

4) Extreme : Interim

58. 3, 9, 6, 36, 30, ?

1) 950 2) 400 3) 900 4) 800

59. DKY, FJW, HIU, JHS, ?

1) KGR 2) KFR 3) LFQ 4) LGQ

60. 7, 8, 11, 16, 23, ?

1) 37 2) 40 3) 31 4) 32

61. 10, 18, 28, 40, 54, 70, ?

1) 85 2) 86 3) 87 4) 88

62. 0, 6, 20, 42, ?

1) 82 2) 81 3) 72 4) 76

63. BADC : XWZY :: QPSR : ?

1) TUVW 2) GHIJ

3) LMON 4) NMPO

64. 175 : 13 :: 108 : ?

1) 6 2) 7 3) 8 4) 9

65. ÆøW : àíÜμrÌŒæ :: M>Æý‡$ : ?
1) CË$Ï 2) Bïœ‹Ü
3) V>ÅÆó‡i 4) H©M>§ýl$
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çÜ*^èl¯]l: 66 ]̄l$…_ 75 Ð]lÆý‡MýS$ C_a ]̄l {ç³Ô¶æ²ËÌZ°
Bç³Û̄ ]lÏÌZ À ]̄l²OÐðl$ ]̄l §é°° VýS$Ç¢… è̂l…yìl.
66. 1) 12–39 2) 16–52

3) 19–61 4) 24–76

67. 1) AABE 2) MMNO

3) GGHK 4) KKLO

68. 1) ï³uý‡¿¶æ*Ñ$ 2) çÜÐ]l$™èlË…
3) ç³Æý‡Ó™èl… 4) Mö…™èl

69. 1) 48–68 2) 71–87

3) 5–21 4) 29–45

70. 1) EHIK 2) LNOQ

3) TWXZ 4) ADEG

71. 1) Ð]l–™èl¢… 2) ©Æý‡ƒ è̂l™èl$Æý‡{çÜ…
3) {†¿¶æ$f… 4) è̂l™èl$Æý‡{çÜ…

72. 1) AOT 2) CPA 3) REB 4) TIW

73. 1) 2)

3) 4)

74. 1) 2)

3) 4)

75. 1) x2 – 16 = 0 2) x2 – 25 = 0

3) x2 – 81 = 0 4) x2 – 65 = 0

SECTION - B
Mathematical Ability

VýS×ìæ™èl ÝëÐ]l$Æý‡¦Å™èl
{ç³Ô¶æ²Ë$ : 75 Ð]l*Æý‡$PË$ : 75
(i) Arithmetical Ability

A…MýSVýS×ìæ™èl ÝëÐ]l$Æý‡¦Å™èl Ð]l*Æý‡$PË$ : 35
76. JMýS ç³È„ýS E¡¢Æý‡~™èlMýS$ Ñ§éÅÇ¦MìS Ððl¬™èl¢… Ð]l*Æý‡$PÌZÏ

45 Ô>™èl… Ð]l*Æý‡$PË$ Æ>ÐéÍ. JMýS Ñ§éÅÇ¦MìS 285

Ð]l*Æý‡$PË$ Ð]l_a 30 Ð]l*Æý‡$PË ™èlMýS$PÐ]l™ø ™èl´ëμyýl$.
B ç³È„ýS Ððl¬™èl¢… Ð]l*Æý‡$PË$
1) 500 2) 600 3) 700 4) 800

77. çÜ…QÅË$ 1, 2, 3, 4,,  ...59Ë çÜÆ>çÜÇ?
1) 28 2) 29 3) 29.5 4) 30

78. JMýS ÐéÅ´ëÆý‡…ÌZ B MýS…sôæ 3 Æð‡r$Ï ò³r$tºyìl° A

ò³sêtyýl$, C ò³r$tºyìlÌZ ¿êVýS… B ò³sêtyýl$.
çÜ…Ð]l™èlÞÆ>…™èl Ìê¿¶æ… Æý‡*. 55,000 AÆ‡¬™ól
A…§ýl$ÌZ B Ðésê?
1) Æý‡*. 12,000 2) Æý‡*. 10,000

3) Æý‡*. 8,000 4) Æý‡*. 7,000

79. B MýS…sôæ AMìS 50% Ô>™èl… i™èl… GMýS$PÐ]l Ð]lõÜ¢, A
MýS…sôæ BMìS G…™èl Ô>™èl… i™èl… ™èlMýS$PÐ]l Ð]lçÜ$¢…¨?

1) 25% 2) 

3) 50% 4) 

80. JMýS Ð]lçÜ$¢Ð]l#¯]l$ Æý‡*. 990MìS AÑ$Ã JMýS ÐéÅ´ëÇ
12½% Ìê¿¶æ… ´÷…¨™ól, B Ð]lçÜ$¢Ð]l# Mö¯]l² ÐðlË
1) Æý‡*. 920 2) Æý‡*. 880

3) Æý‡*. 800 4) Æý‡*. 780

81. JMýS ©Æý‡ƒ ^èl™èl$Æý‡{ÝëM>Æý‡ç³# ¿¶æ*Ñ$ OÐðlÔ>ËÅ… 120

^èl.Ò$., §é° ^èl$r$tMöË™èl 46 Ò$rÆý‡$Ï. B ÑMýSÆý‡~ç³#
´÷yýlÐ]l# (Ò$rÆý‡ÏÌZ)
1) 20 2) 18 3) 17 4) 13

2
66 %

3

1
33 %

3

2
3

21

23

17

19

11

13

3

7

11

19

21

19

18

19

15

19
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82. 3 òÜ….Ò$. ÐéÅÝëÆý‡¦… VýSË JMýS Æ>W Vøâê°²
MýSÇW…_ §é°™ø 0.2 òÜ….Ò$. ÐéÅçÜ… VýSË ¡VýS¯]l$
^ólÔ>Æý‡$. B ¡VýS ´÷yýlÐ]l# (Ò$rÆý‡ÏÌZ)
1) 36 2) 24 3) 18 4) 9

83. 12 òÜ….Ò$. ´÷yýlÐ]l#, 5 òÜ….Ò$. ÐðlyýlË$μ VýSË JMýS
©Æý‡ƒ ^èl™èl$Æý‡{Ýë°² JMýS Ð]l–™èl¢…ÌZ A…™èlÇÏü…^éÆý‡$. B
Ð]l–™èl¢ ÐéÅÝëÆý‡¦… (òÜ….Ò$.ËÌZ)
1) 6 2) 6.5 3) 7 4) 8.5

84. ç³¨ A…MðSË çÜ…QÅ 1532147x06 ¯]l$ 9

°ÔóæØçÙ…V> ¿êWõÜ¢ Aç³#μyýl$ x =?
1) 3 2) 5 3) 7 4) 9

85. 150 Ò$rÆý‡Ï ´÷yýlÐ]l# VýSË JMýS OÆð‡Ë$ A…™ól ´÷yýlÐ]l#
VýSË JMýS Ð]l…™ðl¯]l¯]l$ 20 òÜMýS¯]lÏÌZ §ér$™èl$…¨. B
OÆð‡Ë$ ÐólVýS… (VýS…rMìS MìS.Ò$.ËÌZ)
1) 36 2) 45 3) 54 4) 60

86. çÜ*„îSÃMýSÇ…^èl…yìl 

1) 625 2) 25 3) 6.25 4) 0.25

87. 
1) 0.0006 2) 0.06

3) 0.006 4) 0.6

88. JMýSÐólâ¶ m:n = 3:2 AÆ‡¬™ól (44m + 5n) : (4m – 5n)

ÑË$Ð]l?
1) 4 : 9 2) 9 : 4 3) 11 : 1 4) 9 : 1

89. ÆøkÐéÈ ¯]lyýlMýS ÐólVýS… MýS…sôæ 3/4 Ð]l…™èl$ ™èlMýS$PÐ]l™ø
JMýS Ð]lÅMìS¢ ™èl¯]l BïœçÜ$MìS 20 °Ñ$ÚëË$ BËçÜÅ…V>
^ólÆý‡™éyýl$. A™èl°MìS Æøþ ç³sôæt çÜÐ]l$Ä¶æ$…
1) 30 °‘‘ 2) 60 °‘‘
3) 75 °‘‘ 4) 90 °‘‘

90. JMýS Ð]lÅMìS¢ ™èl¯]l õÜ²íßæ™èl$° §ýlVýSYÆý‡ çÜ…Ð]l™èlÞÆ>°MìS 10

Ô>™èl… Ð]lyîlz™ø Æý‡*.3000Ë$ Aç³#μ ^ólÔ>yýl$. Ð]lÊyýl$
çÜ…Ð]l™èlÞÆ>Ë ™èlÆý‡$Ðé™èl B »êMîS ^ðlÍÏ…^éyýl$. AçÜË$,
Ð]lyîlz MýSÍí³ G…™èl ^ðlÍÏ…^éÍ?
1) Æý‡*. 4,350 2) Æý‡*. 4,530

3) Æý‡*. 5,350 4) Æý‡*. 4,460

91. AÆ‡¬™ól n ÑË$Ð]l G…™èl?
1) 10 2) 2 3) 12 4) 8

92. Æð‡…yýl$ çÜ…QÅË VýS.Ýë.¿ê., Ðésìæ MýS.Ýë.VýS$. Ð]lÆý‡$çÜV>
11,,  7700. ÐésìæÌZ JMýS çÜ…QÅ 275 AÆ‡¬™ól
Æð‡…yýlÐ]l çÜ…QÅ G…™èl?
1) 38 2) 380 3) 308 4) 208

93. AÆ‡¬™ól

1) 13.1313 2) 1.31313

3) 131.33 4) 13.1433

94. (6)12××(35)28××(15)21MýS$ {ç³«§é¯]l M>Æý‡×ê…M>Ìñæ°²?
1) 122 2) 112 3) 102 4) 61

95. x, y, zË$ Mö…™èl Ý÷Ð]l¬Ã¯]l$ 7 : 8 : 16 °çÙμ†¢ÌZ
ç³…^èl$MýS$¯é²Æý‡$. JMýSÐólâ¶æ z çÜ…´ë§ýl¯]l Æý‡*. 27, x

MýS¯é² GMýS$POÐðl¯é, Ððl¬™èl¢… ÐéÇ ÐésêË Ý÷Ððl$Ã…™èl?
1) Æý‡*. 48 2) Æý‡*. 93
3) Æý‡*. 279 4) Æý‡*. 555

96. Ë. VýS.Ýë.¿ê?

1) 2) 3) 4)

97. (256)0.16 ××  (256)0.09 = ?

1) 4 2) 16 3) 64 4) 8

14

45

7

675
7

45

7

90

7 14 7
, ,

90 15 10

169 + 0.0169 + 0.00000169 = ?

0.000169 = 0.013

n3 = 729

3 0.000027 0.008 ?× =

( ) ( )
( ) ( )

6.25 2.6

6.75 1.2

625 25
?

625 5

×
=

×
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98. Ñ¯]lÄŒæ$ çÜ*PrÆŠæ¯]l$ Æý‡*. 47,000ËMýS$ Mö°
Æý‡*.8000 QÆý‡$a™ø Çõ³ÆŠæ ^ólÆ‡¬…_ Æý‡*. 58,000

AÑ$Ã™ól, A™èl° Ìê¿¶æ Ô>™èlÐðl$…™èl?

1) 10% 2) 

3) 4) 5%

99. JMýS Ð]lÅMìS¢ 33 Ò$rÆý‡Ï ºrt¯]l$ AÑ$Ã¯]l «§ýlÆý‡ÌZ 11

Ò$rÆý‡Ï AÐ]l$ÃMýSç³# «§ýlÆý‡¯]l$ Ìê¿¶æ…V> ´÷…§éyýl$.
A™èl° Ìê¿¶æÔ>™èlÐðl$…™èl?

1) 25% 2) 3) 50% 4)  10%

100.

1) 50 2) 5 3) 500 4) 0.05

101. JMýS Ð]lÅMìS¢MìS Mö°² Møâ¶æ$å, BÐ]l#Ë$ E¯é²Æ‡¬. ™èlËË
çÜ…QÅ 48, M>â¶æå çÜ…QÅ 140. AÆ‡¬™ól Møâ¶æå çÜ…QÅ
1) 24 2) 23 3) 26 4) 22

102. 10 ¯]l$…_ 30 Ð]l$«§ýlÅ VýSË {ç³«§é¯]l çÜ…QÅË çÜVýSr$?
1) 18.66 2) 17.66

3) 19 4) 20.66

103. JMýS ç³rt×æ f¯é¿ê 4000. {ç³¡ çÜ…Ð]l™èlÞÆý‡… 10

Ô>™èl… ^öç³#μ¯]l f¯é¿ê AÀÐ]l–¨® ^ðl…¨™ól Æð‡…yýl$
çÜ…Ð]l™èlÞÆ>Ë A¯]l…™èlÆý‡… ç³rt×æ f¯é¿ê G…™èl?
1) 4480 2) 4840 3) 4940 4) 4040

104. Æð‡…yýl$ çÜ…QÅË Ððl¬™èl¢… 47. Ðésìæ Ëº®… 437. B
çÜ…QÅË Ð]l$«§ýlÅ Ð]lÅ™éÅçÜÐðl$…™èl?
1) 2 2) 6 3) 4 4) 8

105. {ç³çÜ$¢™èl… ™èl…{yîl Möyýl$MýS$Ë Ð]lÄ¶æ$çÜ$ÞË$ 2 : 1

°çÙμ†¢ÌZ E¯é²Æ‡¬. 15 çÜ…Ð]l™èlÞÆ>Ë A¯]l…™èlÆý‡…

ÐéÇ Ð]lÄ¶æ$çÜ$ÞË °çÙμ†¢ 3 : 2 AÆ‡¬™ól ¯ólsìæ ¯]l$…_
20 çÜ…Ð]l™èlÞÆ>Ë ™èlÆý‡$Ðé™èl ™èl…{yìl Ð]lÄ¶æ$çÜ$Þ
1) 55 2) 60 3) 50 4) 40

106. Ð]lÆý‡$çÜ yìlÝûP…r$Ï 10%,,  20%,,  25% ËMýS$
çÜÐ]l*¯]lOÐðl$¯]l yìlÝûP…sŒæ G…™èl?
1) 54% 2) 46% 3) 45% 4) 64%

107. Æð‡…yýl$ çÜ…QÅË °çÙμ†¢ 3 : 5 {ç³¡ çÜ…QÅ ¯]l$…_
9¯]l$ ¡íÜÐólõÜ¢ Ðésìæ °çÙμ†¢ 12 : 23 AÐ]l#™èl$…¨.
AÆ‡¬¯é ÐésìæÌZ _¯]l² çÜ…QÅ H¨?
1) 27 2) 33 3) 49 4) 55

108. JMýS Ð]lÅMìS¢ Ð]l…™èl$ ç³°° 10 ÆøkÌZÏ ç³NÇ¢
^ólÝë¢yýl$. C§ólÑ«§ýl…V> B ç³°° ç³NÇ¢ ^ólõÜ…§ýl$MýS$
A™èl°MìS C…M> G°² ÆøkË$ AÐ]l#™èl$…¨?
1) 5 2) 6 3) 7 4) 8

109. 968 Ððl¬™èl¢…V> VýSË ¯éË$VýS$ Ð]lÆý‡$çÜ »ôæíÜ
ç³NÆ>~…M>Ë A†_¯]l² çÜ…QÅ H¨?
1) 241 2) 237 3) 239 4) 243

110. MóS.i. Æý‡*. 3.10 E¯]l² ¼Ä¶æ*Å°² MóSi Æý‡*. 3.60

E¯]l² ¼Ä¶æ$Å…™ø H °çÙμ†¢ÌZ MýSÍí³™ól B Ñ${ÔèæÐ]l$
¼Ä¶æ$Å… «§ýlÆý‡ MóSi Æý‡*. 3.25 E…r$…¨?
1) 3 : 7 2) 7 : 3 3) 4 : 5 4) 2 : 3

111. (2, –3)Ë$ Ð]lÊÌêË$V> MýSÍW¯]l Ð]lÆý‡Y çÜÒ$MýSÆý‡×æ…
1) x2 + x + 6 = 0 2) x2 – x – 6 = 0

3) x2 – 6 = 0 4) x2 + x – 6 = 0

112. A = (2, 3, 4), B = (3, 4), C = (2) AÆ‡¬™ól
(A – B) × C = ?

1) ((2, 3), (2, 2), (4, 2))

2) ((3, 2) (4, 2)) 3) ((2, 2))

4) ((2, 2), (3, 2), (4, 2))

5
8

9.5× 0.085
= ?

0.0017 × 0.19

1
33 %

3

5
4 %

11

5
5 %

11
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113. A, B Ë$ Ô¶æ*¯ólÅ™èlÆý‡ çÜÑ$™èl$Ë$: A × B = B × A = 

1) A = B 2) A ≠ B
3) A ⊂ B 4) B ⊂ A

114. AÆ‡¬™ól 

1) 2) 3) 37 4) 27

115. f(x) = 3x + 2 AÆ‡¬™ól

1) 7 2) 17 3) 27 4) 37

116. VýS$×æ{ÔóæÉìlÌZ n ç³§ýl…:

1) 2) 3) 4)

117. ¨VýS$Ð]l Ð]l*{†MýSÌZÏ A¨Ô> Ð]l*{†MýS

1) 2)

3) 4)

118. AÆ‡¬™ól a = ?

1) 4 2) 8 3) 2 4) 1

119.

1) 0 2) 1 3) 4) 2

120. y = sin(log x) AÆ‡¬™ól = –––

1) 2) cos (log x)

3) x log x 4) x cos (log x)

121. R, r Æð‡…yýl$ Ð]l–™èl¢ ÐéÅÝëÆ>®Ë$. R = 3, r = 2

MóS…{§éË Ð]l$«§ýlÅ §ýl*Æý‡… d = 5 AÆ‡¬™ól Ðésìæ Ð]l$«§ýlÅ
XõÜ EÐ]l$Ãyìl çÜμÆý‡ØÆó‡QË çÜ…QÅ?
1) 1 2) 3 3) 2 4) 4

122. ABCD çÜÐ]l$Ë…º ^èl™èl$Æý‡$Âf…. AC2 + BD2 =

1) 4AB2 2) 

3) 2BC2 2) BC2

123. A(–2, 3), B(1, 2), C(7, 0) AÆ‡¬™ól AB +

BC = ?

1) 2) 3) 4)

124. ¨VýS$Ð]l _{™èl…ÌZ ∠∠ABC = 90°, BD ⊥⊥ AC,

AB = 5.7, BD = 3.8, CD = 5.4 AÆ‡¬™ól BC
= ?

1) 6.1 2) 7.1 3) 8.1 4) 9.1

125. ΔΔABCÌZ BC MìS AD Ë…º…. MìS…¨ ÐésìæÌZ
çÜOÆð‡¯]l çÜ…º…«§ýl….
1) AC2 – CD2 = AB2 – BD2

2) AB2 – CD2 = AC2 – BD2

3) AC2 – AB2 = BD2 – CD2

4) AC2 – BD2 = AB2 – CD2

126. (4, –5) (5, 1) ¼…§ýl$Ð]l#Ë §éÓÆ> ´ùÄôæ$ çÜÆý‡â¶æÆó‡Q
X - A„ýS…Oò³ HÆý‡μÇ^ól A…™èlÆý‡Q…yýl…

1) 2) 3) 29 4) 31
31

6

29

6

4 103 102 1010

( )2 21
AB BC

2
+

( )1
cos log x

x

x

dy
d

1

2

20

1 cos
Lt
x

x

x→

− =

⎡ ⎤ ⎡ ⎤ ⎡ ⎤
⎢ ⎥ ⎢ ⎥ ⎢ ⎥
⎣ ⎦ ⎣ ⎦ ⎣ ⎦

a 3 2 5
=

1 2 -1 0

1 0

0 1

⎛ ⎞
⎜ −⎝ ⎠

0 2

2 0

⎛ ⎞
⎜ ⎟
⎝ ⎠

2 0

0 2

⎛ ⎞
⎜ ⎟
⎝ ⎠

1 2

3 1

⎛ ⎞
⎜ ⎟
⎝ ⎠

n

5

2n

3

2n

2

2n

1

2

3 3 3
, , .......

2 4 8

( ) ( )⎡ ⎤
⎢ ⎥
⎣ ⎦

f 2 + f 0
f

2

25

6

87

5

( ) =g 5( ) x
x− +=1 3

g
6
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127. (2, –3) ¼…§ýl$Ð]l# ¯]l$…_ 3x + 4y – 4 = 0

çÜÆý‡â¶æÆó‡QMýS$ Ë…º §ýl*Æý‡…

1) Ä¶æÊ°r$Ï 2) 2 Ä¶æÊ°r$Ï

3) Ä¶æÊ°r$Ï 4) Ä¶æÊ°r$Ï

128. JMýS {†¿¶æ$f… E¯]l²™èl$Ë A¯]l$çÙMýS¢ ¼…§ýl$Ð]l# §é°
1) A…™èlÆý‡ MóS…{§ýl… 2) Ë…º MóS…{§ýl…
3) ç³ÇÐ]l–™èl¢ MóS…{§ýl… 4) MóS…{§ýl ^éç³…

129. (2, 0) §éÓÆ> ´ù™èl* ÐéË$ 3V> E¯]l² çÜÆý‡â¶æÆó‡Q
çÜÒ$MýSÆý‡×æ…
1) 3y = x – 2 2) y = 3x – 6

3) 3y = x + 6 4) y = 3x + 6

130. JMýS {MýSÐ]l$ çÙyýl$ÂhÌZ° A…™èlÆý‡ Mø×êË Ððl¬™èl¢…
Æó‡yìlÄ¶æ$¯ŒæËÌZ
1) 2π 2) 4π 3) 3π 4) 5π

131. secθ + tanθ = m, secθ – tanθ = n AÆ‡¬™ól
1) mn = 1 2) m2 + n2 = 1

3) m2 – n2 = 1 4) n2 – m2 = 1

132. 19 Ò$rÆý‡Ï °^ðla¯]l ¿¶æ*Ñ$ Oò³¯]l$…_ VøyýlMýS$ 60°

Mø×æ… ^ólçÜ$¢…¨. Vøyýl ¯]l$…_ °^ðla¯]l {´ë…™èl… Ð]lÆý‡MýS$
§ýl*Æý‡…?
1) 18 2) 19 3) 9 4) 9.5

133. A + B = 45° AÆ‡¬™ól (cot B – 1) (cot A –
1) = ?

1) 1 2) cotA cotB

3) 2 4) 0

134. A, B, C, DË$ ^èl{MîSÄ¶æ$ ^èl™èl$Æý‡$Âf…ÌZ° Mø×êË$.
sinA + sinB – sinC – sinD = ?

1) –1 2) 0 3) 1 4) 2

135.

1) sin θ 2) cos θ
3) 2 cos θ 4) 2 sin θ

136. tan 22° + tan 23° + tan 22° tan 23° = ?

1) 1 2) 2 tan 22° 23°

3) 0 4) tan 1°

137.

1) 2)

3) 4) 

138. sin 945° = ?

1) 2) 3) 4) 

139.

1) 2cosθ cotθ 2) 2sinθ secθ
3) 2cosθ tanθ 4) 2cotθ cosecθ

140. x = a cosθ, y = b sinθ AÆ‡¬™ól x2 + y2 =

1) 0 2) a + b 3) 2ab 4) a2 + b2

141. MìS…¨ §ýl™é¢…Ô¶æ Ð]l$«§ýlÅVýS™é°² ÌñæMìSP…^èl…yìl.
45, 25, 50, 60, 70, 80, 37, 92
1) 55 2) 60 3) 45 4) 57

142. Ððl¬§ýlsìæ n çÜçßæf çÜ…QÅË çÜVýSr$?

1) 2)

3) 4) nn 1

2

+

2n

2

( )n n 1

2

+

θ θ−
θ − θ

sin sin
= ?

sin 1 sin + 1

1

2
−1

2

3

2
−3

2

1

3
3

2 3+
3

2

−cos15° sin15°
= ?

cos15° + sin15°

( )θ =2 + 2 + 2 + 1 + cos

2

5

4

5
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143. A…MýSÐ]l$«§ýlÅÐ]l$… = 2P+ Q, Ð]l$«§ýlÅVýS™èl… == P + 2Q

AÆ‡¬™ól »êçßæ$â¶æMýS…?
1) 4P – Q 2) 4Q – P

3) 4P + Q 4) 4Q + P

144. 49, 93, 68, 73, 44, 112, 68, 74, 39 Ë ÐéÅí³¢
G…™èl?
1) 112 2) 63 3) 73 4) 90

145. 8, 9, 10, 11, 12, 13, 14Ë {MýSÐ]l$ Ñ^èlË¯]l… G…™èl?
1) 3 2) 4 3) 2 4) 5

146. Ð]lÊyýl$ ¯é×ôæË¯]l$ GVýS$Æý‡ÐólõÜ¢ MýS±çÜ… Æð‡…yýl$
»ŸÐ]l$ÃË$ Ð]l^óla çÜ…¿êÐ]lÅ™èl?

1) 2) 3) 4)

147. Æð‡…yýl$ °Úëμ„ìSMýS ´ë_MýSË¯]l$ §öÇÏ…_¯]lç³#μyýl$ ÐésìæOò³
ÑÀ¯]l² çÜ…QÅ Æ>Ð]lyé°MìS çÜ…¿êÐ]lÅ™èl?

1) 2) 3) 4)

148. 87, 88, 89....... 97, 98 Ë ÑçÜ¢–†

1) 2)

3) 4)

149. 80, 48, 60, 92, 50, 35, 70Ë ^èl™èl$Æ>¦…Ô¶æMýS
Ñ^èlË¯]l…
1) 10 2) 12 3) 14 4) 16

150. Æð‡…yýl$ çÜ…QÅË A…MýSÐ]l$«§ýlÅÐ]l$… 13, VýS$×æÐ]l$«§ýlÅÐ]l$…
12 AÆ‡¬™ól B A…MðSË$
1) 12.5, 13.5 2) 12, 14
3) 8, 18 4) 16, 10

SECTION - C
Communication Ability

Questions: 50 Marks: 50
Part - I

Choose the correct meaning for the word
given:
151. Contiguous

1) Infections 2) Adjoining
3) Unlawful 4) Prohibitive

152. Homogeneous
1) Treated milk
2) Human beings and animals groups
3) Parts or people of similar type
4) Words spelt similarly but having

different meanings

153. Insatible
1) Unable to be satisfied
2) Not complete 3) Fulfilled
4) Covetous

154. Knick-knack
1) Game 2) Small ornament
3) Knock 4) Snack

155. Haughty
1) Sportive 2) Disdainful
3) Naughty 4) Disconcerted

156. Grandiloquent
1) Grand plans 2) Great future
3) Exaggerated 4) Pompus

Fill in the blank choosing the correct
word:
157. When the accident happened, the car

was speeding down the ––––– highway.
1) depraved 2) deprived
3) dislocated 4) deserted

158. He was ––––– from the country when
his visa expired.
1) repatriated 2) migrated
3) deported 4) exported
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159. The three countries have signed a –––––
pledging to work together in the health
scheme.
1) memorial 2) memorabilia
3) memorandum 4) memoir

160. The judge promised to –––––  the
injustice done to him.
1) remove 2) abolish
3) redress 4) compensate

PART - II
Choose the correct answer :
161. A deed is

1) any written matter
2) a draft of annulment
3) a legal document
4) a present

162. The concept of 'gangplank' implies
1) doing things through proper channels
2) decentralising things
3) defying established hierarchy
4) clinging to a tyrannical authority

163. Job specific tests that are designed to
predict the potential of an individual to
perform tasks are called
1) personality tests
2) aptitude tests
3) intelligence tests
4) verbal ability tests

164. A section of a Government department in
charge of a particular activity is called a
1) diocese 2) compartment
3) collegium 4) wing

165. 'Benchmarking' is
1) increasing sales
2) obtaining a brand mark
3) setting a standard for performance
4) opting out of competition

166. HTML means
1) Hyper Text Modern Language

2) Hyper Text Model Language
3) Hyper Text Markup Language
4) Hyper Text Machine Language

167. The installation wizard in Windows
cannot
1) perform automatic search
2) guide through screens
3) install hardware
4) do quick installation

168. GPS refers to
1) Geo-Positioning System
2) Geo-Processing System
3) Global Positioning System
4) Global Pointing System

169. Which of the following is not an input
device?
1) Printer 2) Keyboard
3) Light pen 4) Scanner

170. The technique of creating a series of
graphic frames to give an appearance of
continuous movement is called
1) booting 2) animation
3) diode 4) graphics

PART - III
171. A: I'm terribly sorry, John I forgot your

birthday. I don't known how it slipped
my mind.
B: That's O.K. I was disappointed
though. I know you were very busy last
week. In this conversion, the speaker B
is
1) apologetic 2) angry
3) disappointed 4) understanding

172. "Had they built a house of their own,
they would not have been on the road
today" means
1) they have built a house of their own.
2) they are not on the road today.
3) they have not built a house of their

own they are not on the road today.

www.sakshieducation.com

www.sakshieducation.com



w
w
w
.s
a
k
s
h
ie
d
u
c
a
ti
o
n
.c
o
m

4) they have no built a house of their
own and so they are on the road
today.

173. A: Remember to wear your safety belt
in the car.
B : Should I ? Forget it.
B's reply shows that he is
1) carefree 2) full of care
3) callous 4) careless

174. The passive from of the sentence, "Do
not beat anybody" is
1) Let nobody be beaten by you
2) You shall not beat anybody
3) Do not be beaten by anybody
4) Nobody is beaten by you.

175. He was pushed to the wall and so he had
to resign the membership of the party.
The sentence implies that he was
1) in a happy position
2) pinned to the wall
3) in a desperate position
4) confined to a cell

176. "Sudheer is the last person I'd trust with
a secret" means
1) "Sudheer is the most suitable person

to share a secret with
2) Sudheer is the least suitable man to

share a secret with
3) Sudheer is not an unreliable person
4) Sudheer is a troubleshooter

177. I don't like to play second fiddle to
anyone. The speaker does not want to
1) play a surrounding role
2) play the lead role.
3) play others fiddles
4) borrow anybody else's fiddles

178. It's time you put pen –––– paper and
replied to the CEO's letter.
1) to 2) on 3) and 4) at

179. Doesn't he –––– his father?
1) take back 2) take after
3) take up 4) take in

180. He did not know the answer ––––
1) Neither did I 2) Either did I
3) Neither have I 4) Either have I

181. I'm sorry he disobeyed instructions. I'll
take him –––– when he gets back.
1) after 2) amiss
3) apart 4) Either have I

182. Wage increase must be commensurate
with the pressures of ––––––
1) inflation 2) depression
3) deflation 4) buraucratisation

183. The company is forging ––––– with it
plans for expansion.
1) forward 2) ahead
3) on 4) through

184. In the end, it all ––––– a question of
trust.
1) gets round to 2) adds up to
3) feels up to 4) comes down to

185. Despite our disagreements, we have
been able to ––––– an accord.
1) reach 2) locate
3) find 4) strike

Part - IV
Read the following passage and answer
questions 186 - 190 :

Museums must make their collections
accessible. In the past, this simply meant
packing them into display cases, often with
wordy labels that made little concession to
the lay person. Nowadays, accessibility
should demand more than this. Displays can
be lively and interesting, making the best use
of theatrical or architectural techniques to
capture the visitor's attention and perhaps
stimulate emotional response. But museums
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should be about more than their displays.
They should make their collection accessible
to the widest possible community.

The provision of loan boxes of objects
for class teachers is one known example of
this, and recently this principle has been
extended by some museums so that similar
material is made available for use in treating
elderly people who are losing their memory.

Museums concern themselves with
'artifacts and specimens' - not replicas. They
exist to facilitate an encounter with
authenticity. They present items that actually
existed - were used - had meaning - at some
historical time. This is a great strength and is
what distinguishes them from heritage
centres and theme parks, books and C.D.
ROMs. Museums which rise to the challenge,
which this distinction implies, and provide
exciting  and accessible displays, catalogues
and outreach programmes, will find that their
apparent competitors in 'virtual history' are in
fact their allies, stimulating an appetite for
the 'real thing' that museums are uniquely
placed to satisfy.
186. According to the passage, museum must

make their collections accessible to
1) lay persons 2) buyers
3) researchers 4) general public

187. "But museums should be about more
than their displays. "This statement
means :
1) They should go beyond their visuals.
2) They should have more space for

their collections
3) They should have wordy labels
4) They should have more displays

188. Museums are different from heritage
centres, theme parks, books, and CD-
ROMs because they deal with
1) exciting objects 2) replicas
3) original objects 4) modern objects

189. According to the passage, the "provision

of loan boxes of objects" helps museums
_______.
1) became popular
2) serve society
3) get publicity
4) make objects accessible to more
people

190. The "real thing" refers to
1) authentic displays
2) catalogues
3) outreach programmes
4) virtual displays

Read the following passage and questions
191 - 195 :

A stamp is, to many people, just a slip of
paper that takes a letter from one town or
country to another. They can't understand
why stamp collectors find so much pleasure
in collecting them and how we find time to
indulge in our hobby. To them it seems a
waste of time, effort and money. But, they do
not realise that many find the effort
worthwhile and many who, if they did not
spend their time collecting stamps, would
spend it less profitably.

In our leisure hours what better
occupation is there to keep us out of mischief
than that of collecting stamps? An album, a
packet of hinges, a new supply of stamps, and
the time passes swiftly. Stamp-collecting has
no limits and a collection never has an end;
countries are always issuing new stamps to
celebrate coronations, great events,
anniversaries and deaths. And the fascination
of collecting is in obtaining these stamps
before one's rivals. Every sphere of stamp
collecting has its fascination - receiving
letters from distant countries and discovering
old stamps in the leaves of dusty old books.

A stamp itself has a fascination all its
own. Gazing at its little picture we are
transported to the wilds of Congo, the homes
of the Arabs, and the endless tracks of the
Sahara desert. There is a history in a stamp.
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The ancient Roman Empire and the
Constitution of America, India's Indepen
dence and the Allied Victory, are all conveyed
to our mind's eye through stamps. We see
famous men - printers, writers, scientists,
soldiers, politicians - and famous incidents.
Stamps, so small and minute, contain
knowledge that is vast and important.
191. Stamps take us through

1) albums 2) history
3) old books 4) dusty books

192. Stamp collection profits one to
1) kill time
2) keep out to mischief
3) get fascinated with pictures
4) become complacent

193. A stamp has
1) an inherent fascination
2) only official value
3) no fascination at all
4) no historical value

194. The journey of a stamp is into
1) the past,
2) the world of futile fantasy
3) the world of savagery
4) the mazes of the future

195. The passage is a contemplation on
1) stamps and their ignominious history
2) the usefulness of collecting stamps
3) the competition in collecting stamps
4) stamp vendors

Read the following passage and answer
questions 196 - 200 :

How do you understand multiple
intelligences? In 1983, Howard Gardner, a
Harvard University Professor, developed a
theory called Multiple Intelligences. In his
book Frames of Mind, he outlines Seven
intelligences that he feels are possessed by
everyone: visual/spatial, verbal/linguistic
musical/rhythm, logic/math, body/

kinesthetic," intrapersonal.
In 1996, he added an eighth intelligence:

naturalistic. In short, if you have ever done
things that come easily for you, you are
probably drawing on one of your
intelligences that is well developed. On the
other hand, if you have tried to do things that
are very difficult to master or understand, you
may be dealing with material that calls on one
of your less developed intelligences.

If playing the Piano by ear comes easily
to you, your musical/rhythm intelligence may
be very strong. If you have trouble writing or
understanding poetry, your verbal/ linguistic
intelligence may not be as well  developed.
This does not mean that you will never be
able to write poetry: it simply means that you
have not fully developed your skills in this
area.
196. How many intelligences does Gardhar

speak about?
1) Eight 2) Seven
3) Multiple 4) Innumerable

197. Inability to perform a certain task
indicates lack of
1) spatial intelligence
2) task related intelligence
3) naturalistic intelligence
4) interpersonal intelligence

198. What does "Kinesthetic" mean?
1) Dynamic 2) Sensory
3) Flexible 4) Musical

199. What type of intelligence do people who
can think in pictures have?
1) Musical 2)Naturalistic
3) Linguistic 4) Visual

200. What does trouble in understanding
poetry mean?
1) You are not a master of  vocabularly
2) You failed to visualise a picture
3) You don't have kinesthetic

intelligence
4) You have not developed this special

skill
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Answers

1) 1 2) 2 3) 3 4) 1 5) 2 6) 4 7) 3 8) 2

9) 4 10) 3 11) 1 12) 3 13) 3 14) 3 15) 4 16) 3

17) 4 18) 3 19) 1 20) 1 21) 2 22) 1 23) 2 24) 1

25) 4 26) 1 27) 2 28) 1 29) 4 30) 1 31) 3 32) 1

33) 2 34) 2 35) 4 36) 3 37) 1 38) 3 39) 1 40) 2

41) 3 42) 4 43) 3 44) 2 45) 1 46) 1 47) 4 48) 2

49) 2 50) 2 51) 2 52) 2 53) 1 54) 3 55) 2 56) 1

57) 1 58) 3 59) 4 60) 4 61) 4 62) 3 63) 4 64) 4

65) 3 66) 3 67) 2 68) 2 69) 1 70) 2 71) 1 72) 2

73) 4 74) 4 75) 4 76) 3 77) 4 78) 2 79) 2 80) 2

81) 3 82) 1 83) 2 84) 3 85) 3 86) 2 87) 3 88) 3

89) 2 90) 1 91) 3 92) 3 93) 1 94) 1 95) 2 96) 1

97) 1 98) 2 99) 3 100) 1 101) 3 102) 1 103) 2 104) 3

105) 3 106) 2 107) 2 108) 2 109) 3 110) 2 111) 4 112) 3

113) 1 114) 1 115) 2 116) 3 117) 2 118) 1 119) 3 120) 1

121) 2 122) 1 123) 3 124) 3 125) 1 126) 1 127) 2 128) 2

129) 2 130) 2 131) 1 132) 4 133) 3 134) 2 135) 3 136) 1

137) 4 138) 4 139) 1 140) 4 141) 1 142) 3 143) 2 144) 3

145) 3 146) 3 147) 1 148) 4 149) 3 150) 3 151) 2 152) 3

153) 1 154) 2 155) 2 156) 4 157) 4 158) 3 159) 3 160) 3

161) 3 162) 3 163) 2 164) 4 165) 3 166) 3 167) 4 168) 3

169) 1 170) 2 171) 4 172) 4 173) 4 174) 1 175) 3 176) 2

177) 1 178) 1 179) 2 180) 1 181) 3 182) 1 183) 2 184) 4

185) 4 186) 4 187) 1 188) 3 189) 4 190) 1 191) 2 192) 2

193) 1 194) 1 195) 2 196) 1 197) 2 198) 2 199) 4 200) 4
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